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The floor in Lile's bedroom is 30 square ards Calculate the area in square feer. o '
e = TRt

270 square feet 0 D) 10 square feet
\/JM 190 DA

A student scored 88 27 and@ three math tests. What does the student need to get on the founh Lest to have an average

0f85foral!fowtes5
R 4947@4 \( 575

lames wants to use algebra to solve this problem. Which equation should he use? L//-« ------
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Savannah is 24 years older thaQ Ryan. while Sebastian is 5 umes as old as Ryan If. Savannah and Sebasuan are twins, which >
equation maybemedtodetermmetheageofallthreepeoplef e avanAg ?L{ J)[ Y
A) 8x =24 O 24"5‘ \\K Y’ (/,
B) 24+ 2x= P e 5 Pt =
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A school club is raising money for a trip, and needs to reach $10,000. Their fundraising progress is modeled by the functwrrJ
f{x) = 435 + 1200x where x is measured in weeks.

What is the meaning of the coefficient 12007
A} ltis the amount they started with. Q) histhe amount which is left over,

B) Itis the amount still to be raised. It is the amount they raise each week.

| : expression 2x+ 3 the 2isa 2
coefficent product

factor b} term
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The rectangle shown has width x feet, and its length is five feet longer than its width

The expression which correctly shaws tHe area of the rectangle i
A 245 AT xJ 5x
B)  4x+10 “ £« 10x
3 A golf driving range charges a flat fee/af $20 10 practice and then $5.75 for a bucket of balls. Write an equation that models the
cha in terms of the number of bucket of balls (8 that you use. 7
C=5756+20 el ) EeSISCHID Y s
B)  C=206+575 D)  £=20(+5.75 ' —
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Find t!(tﬁgf change for the ramp represented in the graph ‘ A '
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Which function corresponds with the table? / 0/ s
S~ fX) b 2 0 f(x)@.z L = e 7 )
ﬁé?ﬁ"ﬂhz-z D {1 £) =5 —5 Sl
L i

Solve the system of equations. gk
o 5 L
A x=2y=-1 e
B) x=-1y=2 DI S ey e

If the domain is {0, 2, -6}, what is the range of y = -2x + 37

3
A) o./ 29) 3,71, 18 (3.-1,-9)
B) a\7 15} D) " )i3.-1.15}
3,5.7.9.
Generalize the pattern by finding the mth term.
In g 2n+1
%’; n+2 /D) 4n-1
e
2x-2y=6
Ix+2y=9
Solve the system of equations.
‘ N x=0y=3 Q x-iy=-2
B x=3y=0 D) x=-2y=1
J ¥
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Look at the sequence in the table. Which reaursive f; represents Ame shown?
A} B.=a,+4 y O  2.=283,4+3
B)  a.=da,y+1 R 4 D) a.=2a.4-1
3 Which graph models the e?Lﬁ/ﬁ'on 2x+3y=6? b | —
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R¢ the domain of the graphed exponential function
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Q y=2+1
D) y=2=9
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